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QUADRATIC EQUATIONS - FOR

BOARDS

Solved Examples

1. Solve the following equation by

fasctorization method: 9x
2 + 16 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ra2NkoJFzCgO


Watch Video Solution

2. Solve the equation 

factorization method,

Watch Video Solution

x
2 + 2x + 10 = 0

3. Solve the following equation by using the

general expressions for roots of as quadratic

equation: 

Watch Video Solution

x
2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_ra2NkoJFzCgO
https://dl.doubtnut.com/l/_EVQ4CUED7h1m
https://dl.doubtnut.com/l/_acAIfezxmoia


4. Solve the following equation by using the

general expressions for roots of as quadratic

equation: 

Watch Video Solution

x
2 − 14x + 58 = 0

5. Solve the following equations by

factorization method: 

Watch Video Solution

x
2 − ix + 6 = 0

https://dl.doubtnut.com/l/_acAIfezxmoia
https://dl.doubtnut.com/l/_Y1UqmhkdbItz
https://dl.doubtnut.com/l/_T1LmerzMUBSG
https://dl.doubtnut.com/l/_zcTWzAmEc1H2


6. Solve the following equations by

factorization method:

Watch Video Solution

x
2 + 8ix − 16 = 0

7. Solve the following equation by

factorization
 method:

Watch Video Solution

 x2(3√2 + 2i)x + 6√2i = 0

https://dl.doubtnut.com/l/_zcTWzAmEc1H2
https://dl.doubtnut.com/l/_UUUoVW0rKaA5


8. Solve the equation 

using the general expression for a quadratic

equation.

Watch Video Solution

2x
2 + 3ix + 2 = 0

9. Solve the Equation

 using the

general epression for a quadratic equation.

Watch Video Solution

x
2 + (√3 − 2√2i)x − 2√6i = 0

https://dl.doubtnut.com/l/_le6iuEWrrXir
https://dl.doubtnut.com/l/_SClL3nqBpzf4


Exercise

1. Solve the equation by factorizatiion method:

Watch Video Solution

2x
2 + 3 = 0

2. Solve the equation by factorizatiion method:

Watch Video Solution

x
2 + x + 1 = 0

https://dl.doubtnut.com/l/_6iAhwzzyX1Fj
https://dl.doubtnut.com/l/_InlPeALS8Aft
https://dl.doubtnut.com/l/_jh10clmIeKEI


3. Solve the equation by factorizatiion method:

Watch Video Solution

x
2 + 2x + 5 = 0

4. Solve the equation by factorizatiion

method: 

Watch Video Solution

x
2 − 4x + 7 = 0

5. Solve the equation by factorizatiion method:

x
2 − 4x + 13 = 0

https://dl.doubtnut.com/l/_jh10clmIeKEI
https://dl.doubtnut.com/l/_lb0OgMrBDP0L
https://dl.doubtnut.com/l/_6VbC5himrF4L


Watch Video Solution

6. Solve the equation 
 by

factorization method only.

Watch Video Solution

9x
2 − 12x + 20 = 0

7. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

2x
2 − √3x + 1 = 0

https://dl.doubtnut.com/l/_6VbC5himrF4L
https://dl.doubtnut.com/l/_9F2tgjopz7aW
https://dl.doubtnut.com/l/_M3f3QgUp5xCi


8. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 − 8x + 1 = 0

9. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

5x
2 − 6x + 2 = 0

https://dl.doubtnut.com/l/_M3f3QgUp5xCi
https://dl.doubtnut.com/l/_8iVyE8njeMvE
https://dl.doubtnut.com/l/_1WUb9jVYTqpE


10. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

3x
2 − 7x + 5 = 0

11. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

8x
2 − 9x + 3 = 0

https://dl.doubtnut.com/l/_E4UjQThgPP9W
https://dl.doubtnut.com/l/_4Q5wSc6U5h0W
https://dl.doubtnut.com/l/_W2ZWpTHDnbZw


12. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

9x
2 + 4 = 0

13. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 − x + 1 = 0

https://dl.doubtnut.com/l/_W2ZWpTHDnbZw
https://dl.doubtnut.com/l/_lz4mXIZgch70
https://dl.doubtnut.com/l/_3XGtHzd9hiEt


14. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 − 4x + 7 = 0

15. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

27x
2 + 10x + 1 = 0

https://dl.doubtnut.com/l/_3XGtHzd9hiEt
https://dl.doubtnut.com/l/_BfaoeZYLSbBC


16. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + 2x + 2 = 0

17. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + x + 1 = 0

https://dl.doubtnut.com/l/_M5m2e5BmMb9x
https://dl.doubtnut.com/l/_addrMV6Dlhaf
https://dl.doubtnut.com/l/_lwNpgwaqbVP4


18. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + 3x + 9 = 0

19. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + 3 = 0

https://dl.doubtnut.com/l/_lwNpgwaqbVP4
https://dl.doubtnut.com/l/_JLyhsDGVtzR8
https://dl.doubtnut.com/l/_fnQDnv4O8tx5


20. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + 3x + 5 = 0

21. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

27x
2 + 10x + 1 = 0

https://dl.doubtnut.com/l/_fnQDnv4O8tx5
https://dl.doubtnut.com/l/_pXFkMuVdHqsB


22. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 − x + 1 = 0

23. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + 2 = 0

https://dl.doubtnut.com/l/_H0KCA73t3raG
https://dl.doubtnut.com/l/_v03JW0chh7WO
https://dl.doubtnut.com/l/_hlKCT45q1XTJ


24. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

21x
2 − 28x + 10 = 0

25. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + x + 2 = 0

https://dl.doubtnut.com/l/_hlKCT45q1XTJ
https://dl.doubtnut.com/l/_9ClOh1rO9BV1
https://dl.doubtnut.com/l/_x5dVt9cvVHDu


26. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

−x
2 + x − 2 = 0

27. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 − 2x + = 0

3

2

https://dl.doubtnut.com/l/_x5dVt9cvVHDu
https://dl.doubtnut.com/l/_3MmWkGSVlDRp


28. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + + 1 = 0

x

√2

29. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

3x
2 − 4x + = 0

20

3

https://dl.doubtnut.com/l/_TUjgwbN7reUi
https://dl.doubtnut.com/l/_8KqtWpR3EAG1
https://dl.doubtnut.com/l/_03MJguWm9FeE


30. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x
2 + x + = 0

1

√2

31. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

√5x
2 + x + √5 = 0

https://dl.doubtnut.com/l/_03MJguWm9FeE
https://dl.doubtnut.com/l/_mFIR8q44uZxt
https://dl.doubtnut.com/l/_lM3kJ8t6u0g5


32. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

√3x
2 − √2x + 3√3 = 0

33. Solve the following equations by

factorization method: 

Watch Video Solution

x
2 − 5ix − 6 = 0

https://dl.doubtnut.com/l/_lM3kJ8t6u0g5
https://dl.doubtnut.com/l/_G8KtD5LHnWVY


34. Solve the following equations by

factorization method: 

Watch Video Solution

3x
2 + 7ix + 6 = 0

35. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 + (1 − 2i)x − 2i = 0

https://dl.doubtnut.com/l/_MqqC02FvjpD4
https://dl.doubtnut.com/l/_KlWoGlVOaqEc


36. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 − (2√3 + 3i)x + 6√3i = 0

37. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x
2 + 4ix − 4 = 0

https://dl.doubtnut.com/l/_p5RH0sm1V1TR
https://dl.doubtnut.com/l/_JF1U3RmBwZgA
https://dl.doubtnut.com/l/_fhfjZGVMAsxt


38. Solve the following quadratic equations
by

using he general expressions for the roots of a

quadratic equation:

Watch Video Solution

x
2 − (3√2 − 2i)x − 6√2i = 0

2x
2 + 3ix + 2 = 0

39. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x
2 − (5 − i)x + (18 + i) = 0

https://dl.doubtnut.com/l/_fhfjZGVMAsxt
https://dl.doubtnut.com/l/_1ts1ez75wNlf


40. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x
2 − (7 − i)x + (18 − i) = 0

41. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

ix
2 − 4x − 4i = 0

https://dl.doubtnut.com/l/_1ts1ez75wNlf
https://dl.doubtnut.com/l/_Fweca1tgpKfV
https://dl.doubtnut.com/l/_pqgpiaT3omi4


42. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x
2 − 7ix − 12 = 0

https://dl.doubtnut.com/l/_pqgpiaT3omi4
https://dl.doubtnut.com/l/_9WQXddpnwfVx

